Local Government Elections 2007: Declaration of result Clackmannanshire Council: CLACKMANNANSHIRE EAST electoral ward

FINAL REPORT

Here is the result of the election in the CLACKMANNANSHIRE EAST electoral ward of the Clackmannanshire Council local authority.

The percentage poll was 62.64%.

And I declare that after application of the STV count rules, the following have been duly elected to serve as Councillors for the CLACKMANNANSHIRE EAST ward of the Clackmannanshire Council local authority:

Candidate Name	Elected at stage number
Alastair Campbell	1
Harry McLaren	1
Irene Hamilton	4

(b) Of the total ballot papers, the following were rejected as void and not counted on account of:

	Reason	Number of papers
(a).	Want of unique identifying mark / official mark	0
(b).	On which the figure "1" standing alone indicating a 1st preference is set opposite the name of more than 1 candidate	
		╬-

<u>(c).</u>	Writing or mark by which voter can be identified	1
(d).	*Unmarked or void for uncertainty	41
	Total ballot papers rejected	43

^{*} Unmarked or void for uncertainty: Note - this will also include ballot papers rejected under Rule 43 (1) (b).

Signed:	
Date:	***************************************

« Back to Full Result Sheet Detailed Description » Declaration »

Election For	CLACKMANNANSHIRE EAST FINAL REPORT		
Date	04/05/2007		
Number to be elected	1 3		
Valid Votes	3489		
Rejected as void	43		
Quota	873.00000		
	Name	eSTV	
Software	Version	2.0.16	
	Registration	1711192147	
Rules	WIG		

		Stage 2		
	First	Surplus of		
Candidates	Preferences	Alastair Campbell		
Charles Bell	409.00000	81.08785	490.08785	
Alastair Campbell	1040.00000	-167.00000	873.00000	
Irene Hamilton	669.00000	11.72161	680.72161	
Alison Lindsay	420.00000	15.41472	435.41472	
Harry McLaren	951.00000		951.00000	
Non-transferable	0.00000	58.77582	58.77582	
Total	3489		3489	

		2	Stage 3		
	First	, ú	Surplus of		
Candidates	Preferences		Harry McLaren		
Charles Bell	409.00000	490.08785	26.32521	516.41306	
Alastair Campbell	1040.00000	873.00000		873.00000	
Irene Hamilton	669.00000	680.72161	12.05547	692.77708	
Alison Lindsay	420.00000	435.41472	6.47879	441.89351	
Harry McLaren	951.00000	951.00000	-78.00000	873.00000	
Non-transferable	0.00000	58.77582	33.14053	91.91635	
Total	3489	3489		3489	

		3	Stage 4		
	First		Exclusion of		
Candidates	Preferences		Alison Lindsa	ay	
Charles Bell	409.00000	516.41306	49,79777	566.21083	
Alastair Campbell	1040.00000	873.00000		873.00000	Elected
Irene Hamilton	669.00000	692.77708	314.91760	1007.69468	Elected
Alison Lindsay	420.00000	441.89351	-441.89351	0.00000	
Harry McLaren	951.00000	873.00000		873.00000	Elected
Non-transferable	0.00000	91.91635	77.17814	169.09449	
Total	3489	3489		3489	

^{© 2007} Electoral Reform Services Limited.

Reading 5 candidates, and 3 vacancies.

Using Rule set: WIG 5 decimal places 0 votes invalid

Registered by: Joe Otten Registered to: Joe Wadsworth

Email: wig@erbs.co.uk

Expires: 19 January 2008 00:36

License type: WIG

This edition of eSTV is limited to 3000 candidates and 100000 ballot papers.

CLACKMANNANSHIRE EAST

Stage 1

Total Valid Vote: 3489 Places to be filled +1: 4 Quota = 873.00000

First Preferences Charles Bell 409.00000 Alastair Campbell 1040.00000 Irene Hamilton 669.00000 Alison Lindsay 420.00000 Harry McLaren 951.00000

Alastair Campbell ELECTED
With 1040.00000 over quota 873.00000

Harry McLaren ELECTED
With 951.00000 over quota 873.00000

Stage 2

Surplus of Alastair Campbell 1040.00000 transferred This is more than the surplus of 167.00000 So ballot paper value reduced by a factor of 0.16057 Transfer from Alastair Campbell: 1040 at 0.16057 = 166.99280 Transfer to Charles Bell: 505 at 0.16057 = 81.08785 Transfer to Irene Hamilton: 73 at 0.16057 = 11.72161 Transfer to Alison Lindsay: 96 at 0.16057 = 15.41472 Transfer to Non-transferable: 366 at 0.16057 = 58.76862 0.00720 non-transferable due to rounding

Stage 3
Surplus of Harry McLaren
951.00000 transferred
This is more than the surplus of 78.00000
So ballot paper value reduced by a factor of 0.08201
Transfer from Harry McLaren: 951 at 0.08201 = 77.99151
Transfer to Charles Bell: 321 at 0.08201 = 26.32521
Transfer to Irene Hamilton: 147 at 0.08201 = 12.05547
Transfer to Alison Lindsay: 79 at 0.08201 = 6.47879
Transfer to Non-transferable: 404 at 0.08201 = 33.13204
0.00849 non-transferable due to rounding

Stage 4 Excluding Alison Lindsay

Transfer from Alison Lindsay: 420 at 1.00000 = 420.00000 Transfer from Alison Lindsay: 96 at 0.16057 = 15.41472 Transfer from Alison Lindsay: 79 at 0.08201 = 6.47879 Transfer to Charles Bell: 44 at 1.00000 = 44.00000 Transfer to Charles Bell: 31 at 0.16057 = 4.97767

Transfer to Charles Bell: 10 at 0.08201 = 0.82010

Transfer to Irene Hamilton: 306 at 1.00000 = 306.00000 Transfer to Irene Hamilton: 30 at 0.16057 = 4.81710 Transfer to Irene Hamilton: 50 at 0.08201 = 4.10050 Transfer to Non-transferable: 70 at 1.00000 = 70.00000 Transfer to Non-transferable: 35 at 0.16057 = 5.61995 Transfer to Non-transferable: 19 at 0.08201 = 1.55819

Irene Hamilton ELECTED
With 1007.69468 over quota 873.00000

Finished